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\0‘\ Exercise 12(A)
\ A. Write the following in symbolic form (in digits) :
‘ Examples 7 rupees 65 paise = ¥7.65
39 rupees 5 paise = ¥39.05
’i 715 rupees 50 paise = ¥ 715.50
1 25rupees30paise = F)5 20 2 212rupees 90 paise =
| 3 85rupees 8 paise = = 55,0‘7)) 4 834 rupees 9 paise =
S 215 rupees 80 paise = T Rl 6 508 rupees 60 paise = 3
| 7 780 rupees 75 paise = T :f ) 8 919 rupees 15 paise =
B. Write the following amounts in words.
| 1. E’,‘?mp‘ﬁﬁ,. X 58.50 = Fifty eight rupees and fifty paise.
i X 382.05 = Three hundred eighty two rupees and five paise.
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it Conversion 4
- We know that % 1 = 100 p. So, to convert fupees into paise. w i r of
| rupees by 100, . paise, we multiply the numbe
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| Convert X 8 and 15 into paise.
| iy 38 = 8x100 = 800 paise
1
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15 = 15x 100 SES00 paiso \Qiqg?,
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